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INSTRUCTIONS AND INFORMATION

Read the following instructions carefully before answering the questions:

1.

2.

This question paper consists of 6 questions.
Answer ALL the questions.

Clearly show ALL calculations, diagrams, graphs, et cetera, which you have used in
determining the answers.

Answers only will not necessarily be awarded full marks.

You may use an approved scientific calculator (non-programmable and non-graphical),
unless stated otherwise. ( g

If necessary, round off answers to TWO decimal places, unless stated otherwise.
Diagrams are NOT necessarily drawn to scale.

Number the answers correctly according to the numbering system used in this question
paper.

Write neatly and legibly.

(O
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QUESTION 1

1.1 In which quadrant will @ lie if 0°<8 <360° and sin@ >0 and tan@ <0? )

sin 45°. cosec 90°

1.2 Determine, without using a calculator, the value of , 5
5 /3 cos0°. tan 60° )
1.3 If 13 cos@=—5 and 180°< 6 £360°, determine, using a suitable diagram and
without the use of a calculator, the value of:
13.1 cotd 4)
132 sin*@-cos? @ | 3)
[14]

QUESTION 2

In the diagram below, AD = 13 units, AB = 12 units and DC = 3 units. DBA and DCB are two
right angles in quadrilateral ABCD.

12

2.1 Caleulate the length of DB and BC. 4)

2.2 Hence determine the value of the following, without the use of a calculator:

221 tand 1)

222 sec ADB +sin DBC (3)
2.3 L;Zi e:;fol,l calculator to determine the size of angle A, correct to ONE decimal @)

e [10]
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QUESTION 3

- The following graphs have been drawn below for x «[0°;360°]:
f(x)=tanx and g(x) = asinx+gq

Use the graphs to answer the following questions for x e [0°; 360°] :

3.1
3.2
33
3.4

3.5

Determine the value of @ and ¢.

Write down the period of f.

Write down the range of g.

Write down the values of x for which £ is undefined.

Determine the values of x for which g(x) = 1.

Copyright Reserved
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[10]
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QUESTION 4

Ayanda plans to travel to New Zealand. Her flight has been paid for by her parents.
However, she will need spending money of about NZ$ 150.

4.1  If the exchange rate is currently 8,8595 Rand to the NZ$, how much will
she need in South African Rand in order to have enough spending money? (2)

4.2 Ayanda has just received a gift of R500 from her grandmother and her
grandmother promises to give her another R500 in a year’s time. Ayanda decides
to invest this money in an account which pays 8,5% p.a. compounded annually.
How much will she have in her account after two years? (6)

4.3  How much additional money will she have to add to her investment after two
years if she withdraws all the money for her trip? )
[10]
! QUESTION 5

5.1 Abag contains 7 red marbles and 5 green marbles. One marble is drawn out of
the bag at random. :

Calculate the probability that it is:

5.1.1 ared marble (1)
5.1.2 an orange marble (D)
5.1.3 ared or a green marble (1)
5.1.4 not a red marble . (1)

5.2 There are 120 grade 10 learners at a school. 55 learners take Mathematics and 80
( learners take Life Sciences. There are 25 learners who do not do Mathematics or
' Life Sciences and the number of learners who take both Mathematics and Life
Sciences = x.

5.2.1 Represent this information in a Venn diagram. Let M = {learners who

take Mathematics}, LS = {learners who take Life Sciences}. 3)
5.2.2  Calculate the value of x )
Use the Venn Diagram to calculate the probability that a randomly chosen
learnet:
5.2.3 takes Mathematics only )
5.2.4 takes Mathematics and Life Sciences (2)
5.2.5 takes Mathematics or Life Sciences )

[15]
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QUESTION 6

¥

Common Test September 20135

In the diagram below A(=3 ; 7), B(-8 ; 2) and C(4 ; 6) are the vertices of triangle ABC.

AD is drawn such that D(-2 ; k) is the midpoint of BC,

C(4;06)

B(-8;2)
X
S >
6.1  Calculate the gradient of BC, ) ( ;
6.2  Calculate the length of BC. (2)
6.3  Determine the value of £. (2)
6.4  Determine the equation of a line that is parallel to BC and passes through
A(=3 ;7). (3)
6.5  If the value of kis 4, prove that AD . BC. (3)
6.6  Hence, calculate the area of AABC. @)
[16]
TOTAL: 75

Copyright Reserved



Jano wing osesid pansasay Wbukdod
[€2] IoMSTR VA a =
s
KA Snpe
G—
anpA-AY =4
= A
ST—691= A
£1= A+ (s-)
g
€1
€ Juexpenb ur weiSerp W /
[
g S0 Vi €1
S— — = 9S00
£ $-
§—=gs03¢l | T¢1
©
SYTRU OU ATUO ISMSUY
ISMSUE YD) 4 9 _
g
£ T
—X—=
R
£
<
o
E3 0
EoNL
N
SOneA S[3UR [BI0adS Vi A pp 0 1 M
209 U} QS0 ¢
20699509 Gy LIS 71
@
VAL erpenb 7| 171
I NOLISANO
wnpuBJoWaK
01 3av¥9
GLOT dequardss 155 uowwo) z sogewayen

‘saSed 9 Jo SJSISNOD WNPUBICWIW ST Y,

£5®In3J8 JUIISISTOD 0T NIBIA Vo,
ASeInddE [8}03 0] NIEIN Vi
POTIAM 1931100 X0J IEIN WA
NOILLITIOSIA TOdINAS
SL  SMAVIA

| - .01 FAVED -

ALVOIAILEAD YOINIS
TVYNOILVN

. WAANVIOIWEN u

ST07 WHAWALAES .
ISAL NOWINOD .
q SOLLVINAHIVIN

VOld4v HLNOS 40 J1T8Nd3d
uonesnpg jo uswpedoq jeleN-nnZemy]

uoijeonpg oiseg




IBA0 WM 9583

pansasay JbuAdod

(.(’

J8A0 Wiy 8sBAld

pansesay wbuAdod

G1L0Z Jequisjdes 1521 UOWWOD

lotl
. 1@ )
. IMSTE YO 1 T8'L6TE = ‘
9OURISIHIP S} SUNBIOTED VD 4 TIISTTN — £6°SCENT  Spsed s epuedy (24
©
| IOMSUR Y 44 ITIEI =
(s80'0+1)00S+ Vo (580°0-+1)00s + (5800 +1)00S = ¥
=" ¥V,
(ss0'0+1)00s V.4 WSS
3 00§+ 00§
L 43 oL
. (44
9 ﬁ
Iomsue Y 4 €6°8TETT = .
6588 % 0ST V.2 S658°g x 05T =  Komom Smpuods sepwedy | 1
¥ NOLLSANO
o1l )
£)
IMSTE YAV AV A S09E =X IO 08T =X 10 p[=% S'E
@
I2MSUR Y A Y A OLT=% 10 06=%X e
RN
@ p:(e)
IOMSTR Y p V £545 - sifgoBuey | €€
m
IOMSER V& 081 =fjopouad| z¢
@ =P
=0
4 A\ c=14p
€=1+406USP
=6 v, 1=b
[=b+g
Hnm+ooEwn e

€ NOLISTNO

WNPUEIOLWIWY

0t 3QV¥9
14 soewayie

o1l
Ol SLjUIoUOdLY 1051100 Aue 1d920v HION
@ . : 9=
omsue Yo, -
o (A
m&uﬁnw Vs T%E d
Loy
S €T
(€ ] ¢
IoMmSTe =
. Vo 4 -
Z=ogaus v » s 5 _
g * Z+l=
c ger |
o gqys Vo~ 0gaus+ gV | 77t
® . doyum ]
Tomste v s o 17T
@) sz vo o | y=04
I
. (o o=
sezoSeqAd Suisn I~ seroeyihd JO WAI0sY], £—5=.08
Ismsue Y 4 s=g9a
seroSeqiAd Suisn N » SeIoSeyiAd JO WaIody . LT1— £1= .8 Iz
Z NOLLISANO
14
&
s v 691 _
611
oor_6o1_
€1 -
EL_ 500 vo A sz vl
" 15
%uumam Vo4 ST/ LT
0,599-0,US | 7
wnpueioway
oL 3avdD
510z Jequaidag 159 UOWIWOD ¢ sopewsyen




4 pansasay Wybnkdod
[o1]
@)
Tamsue v~ spun arenbs gz =
4
R[OULIO] BOIE OJUI UONTIHSANS A~ O/ x 091 MHv%ﬂm.E Jo®BaIY
VA, 9T’ =
oip =
BOULIOY B EY S
2OURISIP OJGI TOHTIHSANS A A {r—g+ {e+re)f=av 99
© avTod
qoIsnpEuod Y I-=
£—x oy
1
M| =
v Ll
€
emuroy CrET _avy
JueIpeIS OJUI TOQNINSANS N A v—L $9 |
©
ToMSTE Y 2 8+ Hm =4
€
1+ RM =f-A
uonenbs ¢
o (L ° g-)JO uonmnsqus W (e+ nﬁ =1-4
st ouy] Jo worenbyg
sjworperd feabs v 4 gl st M _ oy
) 9
©
IOMSUE 1Y A
B[OUIIOY
Jurodprur 0Jul UOLMTSqUS W~ €9
@
v,
BnULOY
I0UBSIP OJUI TOQMNSQNS I » 9
@
Vi ‘M. =
. a_
14
enUIIo} 8V _ oay,
JUAIPEIS 0TI UONNINSGHS N A -9 ._W
- 9 NOLLSH(
wnpuelowapy
0L IaVED
6107 Jogqwaideg 158 | Uowwod ] sogelusyien

JSAO wing ases|d

pansasay Wbukded

[s1]
6L°0 = MIM = moWMMm = (SP0UIDG SJI'] IO SOHRURYIRIN)
10
mhpo = ﬁIN = F =
@ 61 OV+0p+S1
ISMSTR Y 4 V4 (se0morog 917 JO SopewayERN)d | STS
@ c0=5 29 _ (soustog a7 pue somemonge
SN Y 5 VA g0=7=" (se0U10g 97T PuE SOREWIYIRINIG J—
@ < nmno|§n> 0 SOTRWISYY
JAMSTB VAV 5 €ro=7="7 (Auo sopewrsgIeDd eze
@
JoMSTR Y A op=x
0Z1—091 =%
0TI =x—-091
QZI=5T+X—08+X+X~55 VA 0] =ST+X—08+X+X—GC | TTS
© 4
=08 V4
X—CC Vi
STV, I N
1z¢
Qv ¥ umuo Tew! paX Jou
P wo=— (erqrew par 30W)g I
¥ i= a + a — (o1qrewr w2213 10 S[qIEN pa1)g
IoMSTR Y 4 S L €16
(@)
Iomsue Y 0=(s[qrewm a8ueI0)y | 1S
® 0= a = (o[qTeut par
P 850="; (o1qrent pad .
S NOLLISAQD
wnpueJsowagy
o1 3aVEO
$10Z Jequieidag isa t uowwad S soRewsyIE







